
11.1.21 

L.O. To multiply 2-digits by 2-digits 

1.  WARM-UP 
 

a. 6 x 6 = 
  

b. 7 x 4 = 
 

 6 x 60 =  
 

 7 x 40 =  
 

 60 x 60 = 
 

 70 x 40 =  
 

   

c. 8 x 5 =  
 

d. 21 x 3 

 

 8 x 50 =   
 

21 x 30 

 

 80 x 50 =   
 

210 x 30 

 

 

2.  Calculate the following multiplication sentence.  

a.   62 x 13 = 
 

b.  37 x 24 = 
 

c.  72 x 15 = 
 

      

d.  41 x 62 = 
 

e.  55 x 31 = 
 

f.  34 x 25 =  

      

g.  27 x 12 =  
 

h.  34 x 25 = 
 

i.  44 x 33 = 
 

 
3.  Mo is calculating 34 × 23. Here is his working. 

 
 
 
 
 
 
 
 
 
 
 

What mistake has Mo made? 
 
What is the correct answer? 


